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HTEHF—THE 691 354 337 272 E—THB 1,129 568 561 470
HTEEHF_TH 463 217 246 186l E=TH 1,409 713 696 542
HTEHF=TH 545 259 286 2157 E=TH 686 340 346 256
HIEHMTH 447 224 223 167/~ EmT B 626 322 304 255
HTEHFATHE 513 250 263 22| ERT B 1,101 551 550 420
HTEEFNRTE 1,044 504 540 A7 ERTE 746 387 359 269
HIEHETH 771 384 387 09| EtTH 747 375 372 262
HTEEF/NTE 782 395 387 33| AR E—TH 681 342 339 281
/N 341 187 154 134| AR EZTH 462 234 228 156
Gl 200 109 91 65| AR E=TH 745 363 382 302
IRETE 65 42 23 AR EMTB 1,368 698 670 478
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®R 105 50 55 35| EFT Ty E=TH 795 424 371 371
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AR 570 271 299 210|fmTE=TH 760 368 392 314
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UHALE—TH 927 504 423 366[tARTERT B 1,000 502 498 346
UHALEZTH 1,987 994 993 7136|/ARTERTH 690 343 347 256
UMLH=TH 1,320 696 624 484#ARTETLTH 1,155 565 590 411
UALEMTHB 124 63 61 56||Zem&—TH 591 301 290 236
XE—TH 484 244 240 163||Xam&E=—TH 1,014 521 493 337
E=E=-TH 474 245 229 164|XKME=TH 611 306 305 224
=E=TH 557 291 266 212|FpmEmT B 862 397 465 319
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hk—TH 1,050 526 524 389 FEmAELTH 689 358 331 273
LT TH 346 170 176 139(|& &t 65,197 32,854 32,343 25,246
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hdpnT B 272 151 121 174 37 B H B
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B&TE=TH 2555 1282 1273 1,032 HEH 14 fHE
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FREE=TH 854 422 432 337
TXEE=TH 1,267 638 629 488 SHEHAEAAD
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